Accademia Scacchi Milano

11 Torneo di Soluzione problemi - Gara 6

Soluzioni
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1. Milan Veimirovic
Belgrade Internet Ty 2006 1° pr

1. W55 (5p) > 2. Wds#

1..Hxf5 2. Hxf5#

65 2. Wrxes# 1..50c3 2. Wd3#
XC5 2. Wixc5# 1..9xf2 2. £f4#
L6 2. De2# 1..9xd6+ 2. Hxd6#
W2 W5 Whs 2, Wxed#

. Hxf5 2. Dxf5#
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2. Milan Veimirovic
Schach-Echo 5° lode

1. b4! (5p) zugzwang.
1.9d3~2. 2e3# 1..c32. Hob#
1..e32. &c3# 1...HBxd5 2. H\c6#
1.8052. HxbS#  1...£.08 2. H\bS#
1.8b7 2. 9b5#  1..e6xd5 2. H\co#

3. Milan Vdimirovic
QCT Arnhem 1981 1° pr

1. &f6! (5p) > 2. Dcl#
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4. Milan Veimirovic
Wola Gulowska 2008 1° pr

1. Wf3(1p)! > 2. Bf6+(1p)

1...Hxd1 2. Hbs# 4 ] ] 2...exf6 3Wxf6#
1..45al(el,a8,bd) 2. Wxgl# 7. 1...8xe5 2. Wedl (1p) > 3. £da#
1"'283(;22'(;%?5; o 2..%g1 3.5%4# 2. 505 3. Wkd5#
- .
1. 0052, Eed# 1..oxd3 2. Wxdl3# 1"'32?15 f @%‘f! (1p) > 3. Zfas
#2 (11+10) 1..Hd5 2. &H\c6# #3 (10+11) 1 ﬁx 5 2' We3 (1p) >3, Zcs#
2..£2d4 3£xd4# 2...axb6 3kb6#
8/ » //g// 5. Leonid K ubbel ‘ 7 7 7 // 6. Wilhelm Steinitz
e - 7t / %/ 1917 Gé %/ e // Nyowa Revista 1898
» 73 3 x 4
{0 8 @ | LEfn e e e / Lar+ (lp) b7
L B 2 Hi5H (3p)exi5 w7 / / 2.a8=W (2p) ©xa8
., LB dxf5 3. das s, /@ /%// /%/ 3.&c7 (1p) Hcl+
’ 2 %%E /%/ // // 3. d4+ (1p) &d5 2 geﬁy//%/ /% %/ /% 4. .06+ (1p)
1% T { f {/ 4. 20+ Yed 5. 2xg8 Ixe3 = / - { f {/ - (4...5C6 5.x6 £b8 6. b7a7 7.
. 6+  6.d5(1p)+- . @2 T
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Okham PG Ty 3 comm

1. h4 (1p) €5 2. &h3 e4

3. Eb3 €3 4. f3 exd2+

5. ©f2 dxc1=4 (1p)

6. ©el Hxb3 (1p)

7. axb3 £.e7 8. Had £.xh4
9. Exh4 6 10. Eh1 (2p)

8. Yochanan Afek
Netanya 1999 2° pr

loxd1=E Lel 2. dxel=H HExc3#
l.cxd1=£ Hel 2.dxel=H L.e3#

(2.5p + 2.5p)




